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CHEMISTRY
(Skill Enhancement Course )
Answer the Questions from any one Option.

OPTION-A ( Analytical Clinical Biochemistry )
Paper : CHE-SE-4014
OPTION-B (Green Methods in Chemistry)
Paper : CHE-SE-4024
OPTION-C (Pharmaceutical Chemistry)
Paper : CHE-SE-4034

OPTION-D
(Chem:stry of Cosmetics and Perfumes )

Paper : CHE- SE-4044

OPTION-E (Pesticide Chemistry)
Paper : CHE-SE-4054

OPTION-F (Fuel Chemistry)
Paper : CHE-SE-4064
Full Marks : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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1.

2.

OPTION-A

- (Analytical Clinical Biochemistry)

- PR e
' (d) What is Hemostasis? -
s [Fe
Answer the following questions in brief :‘ :
2x3=6
S ePTR HYLS T w3
(a) ‘What are triglycerides ? What is the

Answer the following questions :

Paper : CHE-SE-4014

© 1x4=4

e R Ul g

(@)
(b)

(c)

What is Glycemic Index ?

: ﬂﬁﬁﬁﬁiqﬂ%ﬁv

Name one sulphur contamlng amino .

a01d

Tl A aRy o «fsos T B

Which part of our body syntheswe and
secrete HDL ?

| Wﬁ«mwwﬁmmrwctmu

alarmmg level of trlglycerldes in our -

blood ?

BRI R S (o F@-Wﬁ%‘ﬁﬁ—
WA e

3 iSem-4[CBCS) HE SE 139750676 2

" (b)

(c)

'What is the role of ‘Insuﬁn’ hormone

in our body ? Which part of our body
produces this hormone ? -

TINR XIS B T g [ 1
(FINCB! TIHT I8 /A ARY Beoiw I ?

Mention the basic dissimilarities in
structure between DNA and RNA.

| %QQWWQQQWWWW
,WW‘{{WWI

Answer the following questlons (any two)

. 9x2=10

R epTIE TR mi 8 (et 1Y)

(a)

(b)
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What do you mean by Epimer? Is
fructose an epimer of glucose? Give

~ examples of three epimeric pairs of

glucose with their individual structure.
1+1+3=5

‘?f\‘?mﬁ' qﬁmﬁsqmv@’ﬁw@’ﬁﬁm

T @2 ey R @ P T
Fréeq Ao ove Tice e i

What is denaturation of protein ? How
it occur? Explain the factors

responsible for it to cause. 1+1+3=5 -
foas Rpforsd 52 3 @@e €6 2 TR I

Wi SR @R
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(c) What are nucleosides and nucleotides ?

' structures. .

@

Give an example of each with their
2Y,x2=5

FemmRe s FERtiReng & aremE

- aft Tare e sive S T 1
Name the two fundamental ‘building
- blocks’ of lipids. Write their structures.

Give an example of lipids tarrying those
bulldlng blocks along with its structure.
: 2+2+1=5

fifore A cremrsia stk wo1 CNfeR Rt

T RN T 1 | B o o 1 |

- o R 3o 4ot 9 Bifeis a1 craeretn
s Bider wéma s Trigd ife «t
Answer any three of the following
: questlons . 10x3=30
o’ Rz by e Tes i s |
(@) What is enzyme ?
GaRs e
Define the following terms :
o] IIFPTIRR ket it

(i) Isoenzyme (S GTalE)
(i) Apoenzyme (95'TI3N)
(i) Holoenzyme (27 9aIZN)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C ~ 4

(b)

(c)

(d)

" Mention the seven classes of enzymes

and briefly describe the type of reaction
they catalyse. Givc suitable example of
each class. " 1+3+6=10
S AP GRIRIE (ETPE T =
| 2GS (TR TS T Wi |

Discuss in detail about classification

of Protein by giving sultable examples
of each class.

%WWWW&W@WW
eI el =i |

Explain “The central dogma of
molecular genetlcs v

‘o fia R i s B i)
A 4
What is Glycolysis ? Explain briefly the
various steps involved in glycolysis.

Write down the overall reaction of
glycolysis. 1+9=10

iR R e afRa i v o

BPER IR 31 | 2NZ =12 RS Rideans)
ferin
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-]
(e) Describe how human blood is classified ) OPTION-B '
~according to the ABO system. How the f ( Green Methods in Chemistry)
donor-acceptor compat1b111ty is . -SE- '
determined based upon this’ | , Paper : CHE-SE 4924
’) : . .
classification Explgun : 1.  Answer the following questions : 1x4=4
@O.WWWWW'M R TR Ted 4 8
PRPR T T | R 6o R IR cowr @ Fill in the blank
TS i1 APPSR W NG (e Fefd )
TR W2 PG =1 |- . R R s
0‘) Write short noteé on :. . 214x4=10 ' : ) % Atom econorny'= A 'x 100
5, Bt B ¢ L | o % RN WRR = x 100
. : o . (b) The full form.of CFCis _____ .
(iJ  Structure of protein - : ' (lel in the blank)
AT w5 | 'CFC?W‘TW?‘I
(ii) HDL and LDL - | : . (=T é7? %99 3)
a’is%gqa q emﬁsqa ' (c) Name the starting material used in the
(iii) Blood bilirubin o | ~ green synthesis Qf ‘paracetamol.
i | CPRIDSIETR i AT IR (I AT
oo R ' Raies Ram w o
(iv) Mechanism of enzyme action (d) Minamata disease was found as '
GTIR Brl s poisoning. (Fill in the blank)
| Remiet Gt Rfeam cag el
—_ o (T 3T o )
"3 (Sem-4/CB05 CHB SEL2ASEG 6 o 3 Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 7 Contd.




‘2. Answer the following questions : 2x3=6
O ANATR TR I/ ¢

(a)

| ®)

What is called ‘percentage yield’ ? Above
which percentage, a particular reaction

is considered to have a good ‘percentage’

yield’?

‘ﬁm%vnm’w QI ? G o ~AfFAel
e <o evive A @B e Rtras

SISt * SN G’ W@Wﬂﬁﬁm{ﬁﬂcﬂ ,

U J? ,
Define Regioselectivity. Give example.

mﬁﬁﬁaﬂ@ﬁ*ﬂl%’@ﬁﬁml

What do you mean by green solvents ?
Give example.

CTET TR et e ch e
3. Answer any two quest10ns 5x2=10
| SR T R g Ve

- (a)

What are the goals of green chemlstry ?
Mention the obstacles in pursuit of the
goals in green chemistry.

Ciow TITR TEE B B Give IR
TRPRR PR (FIS 4! A4PTR Tz 3 |

3 (Sem-4/CBCS) CHE SE L2/3/4/5/6/G 8

- (b) Write a note on green synthesis of
ibuprofen with chemical reactions.

| R RRFTE SR m@vﬂ\w
QoS <o (Bt forat |

() Mention with example about the ultra-
sound-assisted chemical reaction.

ofoe SiCierR A wgaﬁ@mmﬁasﬁma
TR e =11

(d) Write a note on designing a green
' synthesis.’

BT FCAT GO T AFSFIR BITS <O
GOt forl |
4. Answer any three questions : 10x3=30
Rt OB = Te 1 ¢

(a) Write the principles of green chemistry.
Write suitable examples of any four

principles. ' $6+4=10
CIE AT SANPIR Tl | Rl zsn%r
Tototime %ﬂz_(@ T famn |
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(b)

(c)

@

What are Biomimetic, Combinatorial
green chemistry and sustainable
development ? How green chemistry can
play a vital role in sustainable
development ? Explain. 2+2+2+4=10

I Rass, fifte civw s we 35T

T 52 3w TawR ovae Give TIEE

%W@@@tﬂﬁﬁtﬁﬁ@tﬁ%ﬁ?ﬁﬂ%?%

1

What are pressure-treated wood ? Why .

is the use of chromium and arsenic
restricted in thlS field 7 4+6=10

‘cepi B /5 e T o T

2R R @3 cwae Feay w1t T

Write notes on the following important
applications of green chemistry in our
day-to-day life :- 3+4+3=10

IR (T SRS mwm%m

-W@@Wﬂ‘fﬁmﬁﬂﬁmmﬁ* mﬁm

(i) Dry cleaning of clothes
AT G e

() Versatile Bleaching agent

ARG &f5e arers

(i) Analgesic Drugs

QUM 83

3 iSem-4/CBCS) CHE SE 1/2/3/4/5/6/¢ 10

(e) Discuss the use of antifoulant in the

field of environmentally safe water
transportation.

wﬁza%ﬁw@qéw sifTzie I 2
GFeTeEToT REa ARSI Ses =i

What are microwave assisted
reactions? Why microwaves are
considered as a more. efficient source
of heating? What are the three
categories of microwave assisted organic
syﬁthesis? Explain with examples.
1+2+1+2+2+2=10

| O CICE | | AS et [Rferm @R@EEe |

TREwes R @R AoRHET Siv Te R

91 TN T 2 MRS 20 TR 0o TR

o R R e e Tyt

3|sem-4/csc3) CHESEL2345/66 11 . Contd.



OPTION-C

(Rharmacéufical .Chemistry)
Paper : CHE-SE-4034

1. Choose the correct option : 1x4=4 -

- uE e Pafe 8

(o) Which of the following statements best
describes a lead compound ?

T A SR A (i o

ﬁsﬁ@?

1)

i)

A ‘compound that contains the
element lead

Az G 24 (ot

A compound from- the research °

~ laboratory that is chosen to go

(i)

forward for preclinical and clinical

trials

SR RN SR (o GO i R
' ﬁ%ﬁmm@fﬁmmmwwﬁ

AR AR @R =W

A molecule that shows .some
activity or property of interest and
serves as the starting point for the
development of a drug

3 (Sem-4/CBCS} CHE SE 1j2/3/4/5/6/G 12

G GOt O R I FRbEe sl

O S 3 Rom wiRsie Ry
 fooitst I =

(iv) The first compound of a structural

class of compounds to reach the
. market

S (oA B! RS (T et

(b) Which of the following terms is used to
describe a drug that has the same effect

on a receptor as the endogenous
chemical messenger ?

GG TR ST ISR W Ris=81® O
UOR (ITAIRl ST JTRCT ol (AICO! *1%

JIRI | A

() Agonist

G \

(i) Antagonist
aBlarie |

(iii} Partial agonist

P erRe
(iv) Inversé agonist

TR 91l

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 13 Contd.



(c) Whlch of the following statements best

describes: retrosynﬂ1e31s ?

SR PR SR @’am«wa@
R :

)

(@)

(iii)

The reaction conditions required
to convert the product of a reaction

back to the original starting
materials.

RiFamere smids o Ritrarits weirelRo

A strategy used to design a

synthesis of a target molecule by

working back from the target to

simple starting materials
TR SRl S Ridaa Tefs i IR

T SR AR o sR-e g
e Wedu

The design of 'a synthetic scheme | .
using cheap, traditional reagents, '

rather than expensive modern
. reagents

IR YT Ralses +Racd 59,

e R e IR el 9

oS

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 14

1
i

(iv) The design of reaction conditions

such that an equilibrium reaction
is pushed towards the products
rather than the startmg materials

R SRR IeWE ol w9 qCS
a@o! e [frms R Affes
fferarars i i ofF for =

(d) - Which 'enzyme is used to hydrolyse
starch to. maltose to manufacture.
ethanol by fermentation ?

AR T A IR R ISR IR
. . W?{ﬂ?

)

(@)

(iii)

(iv)

Diastase
Alpha-amylase’
STl N2ET
Lipase |

NS

Beta;amylase

R

3 (Sem-4/CBCS) CHE SE 1/234/5/6/G 15
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2. Answer the foﬂowing questions : 2x3=6
e fr e TeR T
(a) Define chemotherapeutic index and

. (b)

(©)

therapeutic index.

S

g fan

What do ydu mean by pharmacokmetlc
phase and pharmacodynamic, phase ?

'WWCWWW‘GWW

e & @wie

Write down the chemical structure of
L-ascorbic acid. Mention 1ts 1mportance
for human beings.

Lwﬁasaﬁmwmﬁasﬂéﬂﬁ'znlwm
TR ST S

3. Answer any two questions from the
following: . S5x2=10

woe [ qo eniE el i

(@) () What are NSAIDs? Give an

example. 2

RRIoRfE 52 Bt Trrd Tl

(i) Explain the ‘meaning of the term

‘prodrug’ usmg an example. 3

TR ‘PGl R o i |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 16

(b) Write the chemical structure of-

ibuprofen and identify the chiral centre.
Which isomer of ibuprofen . is -

~ found to be active as a drug? Write

the steps involved in the synthesis of
ibuprofen ? ' 1+1+3=5
9 | SIYA (PRCD! SRR 8y fE5ieed
e 2 ARIAE FRCHTTS Gfve [iFmmR
TR |

(c) (i) Name one species each from the

following microorganism class
.which is capable of fermenting
sugar to citric acid: . 1.5

Yeast, Fungi and Bacteria
ORISR (TR ©RT GO e AN
1 R e B IR siRs e

Teslm IR I 2 '

¥, & oI IR

(i) Name the three processes adopted
for the commercial production of

citric acid. 1.5
- oRET abee AR estvw A il
T foRDT el oty
3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G¢ 17 Contd.



~ (iti) Write down two commercial uses
of citric acid ? -2

saf e i ARG TR B

(d) Write briefly about the production of
chloromycetin by fermentation. S

'ﬁ?ﬂﬁﬁﬁﬂrﬁm%ﬁwmw
-

4. Answer any three questlons from the
following : 10x3=30

R Rzt fRst =s e fot ¢

(@. (i) What minimum requirements
, must an antibiotic fulfill ? Write
- the chemical structure of
chloramphenicol ? Identify the
chiral centre(s). What
nncroorgamsm produces it ?

 2+1+1+1=5
o <BiR s R e el
SR R AN 2 FIMF TR IR

15 ol | ST =7 () B -

R SERE TS ool

(i) What are sulfa drugs? Write the

: chemical structure of sulfacetamide ?
Write the name of two bacterial
species against which it is active.
Write the reactions involved in the
synthesis of sulfacetamide.

1+1+1+2=5

3 [Sem-4/CBCS) CHE SE 1/2/3/4/5f6/G 18

(b)

U

(@)

el 8w 7 QACEIRGT AT

sigm fordt | R 401 g e Ratm B

A& W OR W | FERTOIRST
TR Fore Tive RirargR i
What is HIV ? What is AIDS ? Write .
the name and write the chemical
structure of an anti-AIDS drug.
Describe the mode of action of the
drug : - 1+1+142=5
A B o aBoR 2 &5 a3QY
aﬁzaéi@nma:waﬁﬁﬁ'ﬂaawvmﬁ¢eﬁm
ot | @ 8 TR = 3ot <=

What are soporific agents? Name
two substances which may cause
insomnia. Which drug was referred
to as the king of barbiturates?
Name an antianxiety drug and
point out its other. therapeutic
benefits. ,‘ 1+1+1+2=5

2o R et [ wivmir 7R sfka ok
1 AR AW R (T 8T
%mﬁzﬁwaamﬁgﬁr@Wﬂtﬁ%ﬁnuﬁnﬁmvv
AR &Fm W Bl R g
BFeIS TN TAPROPIR T 1 |
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e

6

What is a vitamin? Give one
example of each water-soluble and -
water-insoluble vitamin. Name the
different structural components
present in vitamin B12. Write the
name of two bacterial strains used
for industrial production of vitamin
B12 by fermentation. Write the
name of a disease that occurs due

. to the deficiency of vitamin B12.

1+1+1+1+1=5
fEofim &2 ot wfige e «ifte
R oo @oite Twimma i)
eI R v 2t Riem sfiafsre Tsimma
1 et | R <R Roifm Ro 2 i
TeofiveTe R T o IR dwifen

- B RBiRE. Ry 3 worS @[l @bl

@R A T

(@) In the industrial preparation of

ethanol by fermentation—
R ARt e St eafeo—

(A) what is the starting material
and what percentage of sugar

does it contain ? 2
Aﬁﬁ?¢$1%‘ﬂﬁbam“‘ﬁhmqﬁ—rﬁ
LES AUF?

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 20

d

" (B name two microorganisms

that can carry .out the
fermentation., ' 1

1%ﬁaaﬁk9ﬁrﬁ?vﬁﬁﬁaamwﬁ#ml

(C) what 'is the optimum pH
range for the process? 1

 oif& R U@ S pH AR
A 2 |
(D) why is addition of oxygen
necessary although the process
is anaerobic ? 1
2RI AR TS SRR
1o} B! R SIS 2

Write the structure aétivity
relationship (SAR) of pemcllhn

~ analogues. 5

AR e SN I oo

)

(9=aER) ferait i

What is leprosy ? Write the name
and structure of an anti-leprosy
drug and propose a synthesis for it.

1+1+3=5

3 (Sem-4/CBCS) CHE SE L/2/3/4/3/6/6 21 " Contd.



. Neriect
b Gt o2 b o oo b
T T 1 T TR O 2 ol
ot : S

Write.the structure of antiviral

drug acyclovir and outline its mo_c_lg
of ‘action. 1+4=

'[‘ﬁa%@a@wmmmmw

€ 0
i
0

R R e R st SRl 9

What are benzodiazepines ? What

is' the trade name of the drug
diazepam ? .Propose a synthetiC
pathway for drug diazepam.

1+4143=5
 EEEIRERR Ry e 89

IR A e Rigeaeng TE
CIGEA 836 b e Bl |

f
Draw  the structure °

twO
cephalosporin C. Name the 7
heterocyclic rings present it

s
structure. Mention the St€P .

involved in the synthesis

cephalosporin ¢ byfermentation. ‘

) e
-Mentmn one advantage and 92’1’1
disadvantage of 1st gener.atl <
cephalosporins over peniCiulns;S
1+1+4+2

3 (em-4/CBCS) CHE SE 12/304/5)6/G 20

~

(%)

CFE =R B o7 & =11 TR
W78 T ¥t Wi ABIRR e
ol R IR gwerRe B

TRCHFIR TN TS T S 3 |

RS » W doR GErErRes @6

IR IR 1 SR Se 39

Draw the structure of vitamin B,.
What is its fuinction ? 2

> TobIm R,3 o157 wicem 31 | 331 o e

3 (Sem-4/CBCY) CHE SE 1/2/3/4/5/6/G 23
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- . OPTION-D
( Chemistry of Cosmetics and Perfumes)

Paper : CHE-SE-4044

Answer the fdllowin‘g questions from below :
4 1x4=4

weTe Al ST e o

i) Which of the following chemicals is

used as ﬂavounng agent?

R (WG IRERS cﬁﬂﬁﬂwmﬂ

AR I W2
' (a) Acetonyl acetone )
&f55Ze afoo
: (bp) Oxybenzene
SR
(¢) Titanium oxide
oot omize
(d) Octrizole
- e

3 (Sem-4/CBCS) CHE SE 1/2/34/5/6/G 24

(i) Hydroalcoholic solution includes

PG G T R
(a) nail polish remover
@2 ATl ST

(b) aftersave
SIEDCES
(¢) hair oil
pieR (e
(d) bath oil
ol (oA
(i) Oil in water emulsions ‘ére used in
Sife (oo BTG JeRR T
(a) hair conditioner |
e T fepae
(b) sun screen
o e
(c) diaber rash cream
TR (@G &S
(d) vitamins A
RBIfm Roiw

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 25 . Contd.



(w) Body odour develops as a result of

secretion from

e CPIRTR Rl G R AR o o

G ?
R (a) ':skin ,
g'a'
(b) muscle
e
(c) apocrine gland
tﬂ'»’l’@i??{ (#2\3] |
(d) ~ sweat
o

2.

~ Answer the following questions from below :

2x3=6

oS erepTRs Bew i 5

7]

Write any four functions of cosmetics.
ﬁmwﬁzmwﬁbfm’aﬁm T A4l

3 {Sem-4/CBCS) CHE SEY23405/6/6 26

()

(i)

Write two side effscts of the use of hair
dye.

BT a2 36 TR 75 At S 4|

Write two differences of talcom powder
and face powder. '

aﬁwm@quﬁ“wmﬁaw@
ANy ol |

Answer any two questions from the follbwing :

ox2= 10

Wﬁmmﬁmmﬁmﬁm

(i)

(@)

(iii)

What are the ideal chracteristics of
ointments ? Write one advantage and
one disadvantage of ointment. 3+2=5

Wﬂﬁmwmwﬁmmﬁﬁm
S @Bt eyRel ol T

What are the main ingrediants of cold
cream ? Write briefly about the
preparation of cold cream. 2+3=5

T SN 7Y SAMenE & Fe Fw @
eRgesi R ot foa

What is antiperspirant ? How they act ?
5

aaf%ﬁﬁsﬁ@%a wew f%mn % 3R macnz?ﬁ

rmiﬁﬁﬁml

3 Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 27
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(iv) What is suntan lotion ? Mention three

(ii) Give the method of preparation of

uses of suntan lotion. 2+3=5 shampoo. How can you differentiate
BIe e 5 2 2R FoRE aeae S 9 between hair remover and nail polish
: o remover ? ’ =
. Answer any three questions from the ' ver : : . 9%5=10
f°11°Wm8 - 10x3=30 G[F 4TS AT T Bl | G wopie

(i) Explam the term cosmetics. What are

IF 7L AT AoPIE Tore sHie [ B

the various categories to classify fiv) What are the beSt, sources of geraniol ?
 cosmetics? 5+8=10 What rpethod is adopted for its
m«qﬁmﬁs{m‘:w aﬁiﬁwﬁ%ﬁ -extraction ? Discuss its uses.
. YRAITR T 4L | | | 2+2+2=6
(i) Write two-lmportances of each one of Rraifere) T8 aipios B&THI 2 2
the following : o 2x5=10 o I I [ 1 AmiS SReTE F1 W 2 N
wmmmﬁmwﬂw" TRRIT T
(a) Civetone : : T
BRwH . ' : - Write the two cosmetic uses of each
(b) Eucalyptus oil R | . 2=
TREE (o7 | . (@) Oil in water emulsion |
(c) Rose oil : ‘
Y (od (b) Water in oil emulsion
(d) Sandalwood oil - ' (@) ATS (5 AE
(b) (TS A, a?@w Wﬁﬁm

{e) Eugenol : :
 BeREm ' R ol

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 28 o | 3 {8em-4/CBCS) CHE siz 1/2/3/4/5/6/6 29 - Contd.



(v) Wnte in short about the following :

5+5=10
oS e 91 R eee HiiE o 8
(@) Cosmetic safety
 op A

() ..Advantages/contributions of

colouring agents in cosmetics
. preparation '

A AFSIINS IATS IGF TIPS

TRl

Write briefly about the actions of
cold cream, vanishing cream and
shaving cream. 2x3=6
T TN, (SR T o @R Fe
AR TS TS Ty

(b) Write briefly about hair waving and
. hair straightening agents. 4

i Bl o gt el SRt e

©) (a)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 30

1. Answer the following questions:  1x4=4
woTe fral emiraRe Bew i o
(a) Write the name of a plant which is used
as insecticide. _ _
Foetreie Rolce 2R it iy S A v
(b} What is the trade name of Benzene
Hexachloride (BHC) ?
@fem (g 9IRes (BHC) AffEre A e
(c) Define the term Rodenticic!e.
CSB513e ket
(d) What is Bordeaux mixture ?
6 e 52
2. Answer the following questions : ~ 2x3=6
o1 it eheTRs e i ¢
(a) What is a bio- pest101de ? lee an

OPTION-E
( Pesticide Chemistry )'
Paper : CHE-SE-4054

example.

ol R 2 @bl Smrgaet T

3 (Sem-a4/CBes) CHE SE 1/2/3/4/5/6/G 31
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‘(b)) To which chemical class of insecticides

()

does DDT belong ? Name another
insecticide that belongs to that same
class. '

RRB EROIaTTRET e Soar oEfe?

iR aF (TR oo S |5t FGHIR
et

Draw the structure and IUPAC name of
" alachlor. ~

T 1 T T O B iR X 1

B

.3. Answer the fpllowixig questions : {(any two)

5%x2=10

were st erspT v it s (Rt 7o)
{a) Write a short note on Malathion.

(b)

TeNAER @siwe «fS 53 it B |

Write down the chemical structure of

gammaxene. It is also known as HCH,
elaborate on this acronym. Mention two
uses of it. | 1+2+2=5

T IARE 151 Bt 1 2306 HCH e
G 2, 2 e T @ o Rximoiza il |
AR 757 92N T 7G|

'3 (Sem-4/CBCS) CHE SE 12/3/4/5/6)G 32
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(¢ Draw the chemical structure of

(@

©eTS frat epsicares s faat-s (Riewieent feian)
- (@) "Give an example of Quinone pesticide.
Draw its structure and mention [UPAC

name. Discuss briefly the synthesis,
properties and uses of it.

butachlor. To which - chemical class
does this insecticide belong ? Briefly
describe the chemical synthesis of

butachlor. - 1+1+3=5
TR IR A9 O 91 | G2 o
(I IRT (=T wr@efs 2 o IR
R Etr CELT £ TR
What are natural and synthetic
pesticides ? Give examples of each class.
Mention two advantages of natural
pesticides over synthetic pesticides.
o 2+1+2=5
AFT W Ffaa Foarr B2 o fim
GBI Sizge At | plaw Foareis Ao
FioarRe 7y 3R Sard i

Answer the following questions : (any three)

10x3=30

1+2+7=10

Qontd.



e oA <ot B e (R A
<1 S [UPAC 7 S <1 | TR o, ol |
" (b) Discuss the merits and demerits of

\ ‘pesticides.

o SR @ S (IR S 41 |

{c) Discuss briefly the synthesis, uses and
‘harmful effects of DDT.

£ o T 2, TR I oI efoRA R
TP S 1 |

| (d) Write briefly on the clasmﬁcatmn of -
pesticides (based on the target organism)
citing suitable examples of each class.

2o (e Botge St i o
- iR R (7T SR 8o 5 TR)
ol
(e) (i) Whatis Folidol ? Draw its chemical
structure. . 2

~ AﬁﬁW%?WWWWWWl

' »l(ii) Outline two major distinctive
- features of organophosphates from

other insecticide classes. 2
SR SIS (T st sisf e Eod
. FBI 2R TR RigR Ramfi
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(tii) What are agricultu'fal pest101des ?
" Mention the name and uses of two
2+4=6

ThREe Ao R 70! e |
Wwwﬁwwﬁm

What are carbamates ? Propose one
method of synthesis for both
carbofuran and carbaryl. Mention
-two major disadvantages of these
carbamate insecticides. 1+4+2=7

FIRACIHER e FRFIT o PR
A AR oo @Bite omfer Raw
1l | §% FAGH SRR 757 e
PRl e 4 | |

(i) Discuss the sjrmptoms observed on
carbofuran poisoning. 3

mﬁmﬁa&mmmﬁmm :
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agrlcultural pest1¢1des
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1.

OPTION-F

( Fuel Chemistry)
" Paper : CHE- SE—4Q64

Answel'; the following questions : 1x4=4

were Al e Ted i e | ,
(a) What is the composition of water gas ?
T (R AR TG R
(b) Write the percentage compositions of-.
gases present in CNG.
CNG© 33! (1RRISS o5 7S &t

(c) What is the advantage of alcohol-
blended petrol ? '

e fifEs ifew R R

(d) Name one solid lubricant. -

g5 (il v am

| 2. Answer the following : . 2x3=6

were AT T ol ¢

(a) What do you mean by non-renewable
energy ? '
THeed sah «fe e B @e

(p) What is coal-liquifaction ?

FWIR S [F2

(¢ What are the disadirantages of uses of
CNG?

~ CNG IR SHRYRIR Bt |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 36

3. Answer any two of the following questions :
) 5x2=10
©oTe AR e qh e Be fonai g ,
(a) What do you mean by lubricants ? How
lubricants are - classified ? Give
examples of each class. 1+3+1=5
foifreRe o [ Eie PilteeReEs
Eiﬁﬁ*evmm”&zi?3maﬁmaém¢ﬁﬁﬁi@7ﬁ§#
Al

(b) What is Naphtha ? Write the products
obtained when Naphthas are allowed
to undergo steam pyrolysis? 1+4=5

- Il WA e @I A GO TS
Besid (RN AMLER | '

(c) What are the compositions of producer -
gas ? Between producer gas and water
gas which one has more calorific value ?
Why is producer gas used immediately
after its production? What are the

advantages of natural gas? :
‘ 1+1+1+2=5

2IRToIT (o S 1 ST (1R SIS
T (o WErS (SRR @R T @fRe
ST (olg Tesld R o 0 2B o
IR IRA A 2 AP (o] R & Bee

(d) Write the petroleum fractions of the
products obtained during ref."lmng. of
crude petroleum. Also write their boiling

ranges and uses of each fraction.
' 3+2=5
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questions :

ﬂﬁmfa@cﬁaﬁﬁ‘@ﬁﬁ@?w@”ﬁm
o Bl | e i S
wmmﬁﬁﬁwﬁml

" Answer any three of the following

10%x3=30

'..::f-'—mm Rt bt mwm

(a) What do you mean by coal gasification ?
~ Write the flowchart of coal gasification

‘process. What are the advantages and

B d1sadvantages of coal gasification ?

(b)

2+4+2+2=10
wcﬁn«qm%vm R e
e TaTs iR Tl T R R
e SERUER Bl

What is cracking of petroleum ? Write:
- the products of thermal decompositien .

of n-Butane. Draw the flowchart of
Fixed bed catalytic cracking. What are
the advantages of catalytic cracking ?

 242+442=10

Cﬁ§ﬁ¥MNa(zﬁ%\ﬂﬁmﬁiﬁﬁésﬂvimmﬂﬁﬁmﬁﬂa

Siot ool FoTe Gern (il Gerima@a |
33-Rom wraes i Resing il g iz fi) -
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(0 What are the

@
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functions and
characteristics of lubricants ? What is
viscosity index and ‘what does it
indicate ? What are additives in
lubricants ? Name some additives to
1mprove the lubrication in oils.. A
. 3+3+2+2=10 -
PAPRFTPRART T I eelie R Bl
iR Timel s F oI 3 & [Aoi
i 2 PifberTeRa @9 R IR il QRRR
ﬁ$9c$§mwm«mﬂ$wﬁwmw$ﬁﬁ%m:

What do you mean by renewable and
non-renewable energy sources ? Write
about solar energy, advantages of using . -
solar energy and also write
disadvantages of it. What is geothermal
energy?  4+4+2=10
AP A TPy e o B
@l ? Cliesifes R &t o cieifes sika
w2l SRARR 1l | wetsty i A e

What is biogas ? Write the compositions
of biogas. What is biomethanation?

‘Write on biodiesel and transesteri-

fication reaction as well as flowchart
of biodiesel productlon ,
: 2+2+1+2+1+2 10

Coﬁtd.
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(7 () Define dctane number of a fuel.
- How a vehicle select a good quality

fuel for use. 2
SE W 7 94T I AR OF TFE
IRR I (P e w2

(i) What are the basic compositions

of crude 0il? Mention the basic
. principle behind its refining

process. 2
SRS (T Eres & A ? 3 con
AR TR I oy Srze w4

(i) How are cloud point and power
point of a lubricant measured ?
' | 2+2=4
PR sl 1S Ry s iR} R
W G Bl w9 =y

iv) Write your short comments on
‘future of renewable energy in

India’, ' 2
SRS AR Yo TR SR
TS (SRR B oS f

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 40 3200



